g ZAN\METAL
\&/LLIORK

PNEUMAT

RFL L& 078 9 3 2 LINE ON LINE® #5177 it —, PR BRI LA
L HENIEE RIS T SR g
RFL LS 9152 U R, b iR T Nsh 8 (K . A AR T
Bt UR CRET0 , SORT RN — AT
T, A=A gtk

1& PRI S AR ek

AP PERSK, HRIONRGUEL GERTRED ;

1& FOMIREERSK, WDtk GERIRD .
BAY WA » W RAARB T R, A PR a4
e
- R PR R AR R,
- —RBL N, k.

HARSH @4 ‘ a6 ‘ @ 1/4 ‘ o8
BATIEHES Mpa| 2371 : s
bar 10
psi 145
TAERE °C - 0% +460
°F - 4% +140
6.3 barltt 457 7 [ AT NI/min 155 ‘ 450 450 ‘ 850
6.3 barltf A5 7 [ & NI/min 160 550 550 950
Pk T4
P B 5 AT I
sz bt SERES PA 11 - B 6 - BB 12 - e
THAR SEEARZ R, TSR . I, BB
SO EBIBHAR VR 71 &3

-
=
W&
-
—
L
oz
=
32
B
i
=
=
:}J

<
e

T

@ FEHTFREMFE

OF 3 3 CiEapain

® NBR %

@ BRI

6 BEGHAER R B e IR L
©® HHRELER E AL

@ NBR &}

® mATERAMPUHERE
© NEHEEHER

© =aTRAMHE

R T RA MRS
B TR EM e TR

@@Q




FHEETR

®

RFL LA %25 753
o | ® G (BSP): T4 AMELL  RFL L WJ 3 B 2e e (R IR B B ul o e f
UNF & NPT: 7340—/> RU6 £z, it &) UNF 5 NPT AMEZ,  RFL L RIA; B R 208 (e AR sh g mids il i L

o ] ® MEILHIFTR) SQU L &R B4 E o
* |5 © WLk _EAYRIPAIE fL AT B RFL L 248 e I B AR
o [ © iRk ERTIREE, RFLL tonrseBlmiac.

6.3 bar FFRER: REMFETIRLIEH B2 FKK R

RFLL @ 4 (@5/32") RFLLD 6 -RFLLD 1/4” RFLL@ 8 (@5/16")
— 200 — 500 — 900
-—_ = = /’_
180 450
< < P £ /
% 160 //__ ',_.,Z__' 400 % 3
140 350 400
— 120 300
= 500
W& 100 250
— / 400
= 80 200
oz 300
= 60 150
2 40 100 A
i‘l 20 1 50 ol 100 -
= L L1 L1
= 0 0 0
iz 01 2 3 4 5 6 7 8 91011 01234567 8 91011121314 01234567 8 91011121314
g P4k Fl 4k EFi4

RFLL - &, HATR

R 2 g A B C D E G H I 11 Ch Nmax
9041301 RFLLU @4-@4 4A 42 355:385 107 56 10 175 M9075 12816 11 4
9041316 RFLLU @6-06 6 494 36:41 147 64 114 20 MI2X075 14620 15 4
9041316V RFLLU @1/4-@1/4 1/4 49.4 36:4] 147 64 114 20 MIX075 14620 15 4
9041324 RFLLU @8-28 8A 573 A4+49 187 91 138 26 MI5xI 18724 20 45

A OA=05/32";@8=025/16"




ATN\METAL
&/ WORK

PNEUMAT

RFLLE - &, BEHR, #HHEH

A 2R @ A B C D E G H I 11 Ch Nmax
9041366  RFLLU @6-@6 PL 6 494 A23:445 147 64 114 20 MI2A075 14620 15 4
L 9041366V RELLUD1/4-G1/APL 1/4 49.4 423:445 147 64 114 20 MI2075 14620 15 4

9041374 RFLLU@8-@8 PL 8A 573 47.2:494 187 91 138 26 MIxI 18724 20 45

A 28=035/16"

RFLL G (BSP) 484 - &, BT, KA

RB B F 0 P A Al B C DEE G H I 1 Ch Chl Nmax
9041401 RALLUMSG4 M5 4A 4 477 207 355:385 107 56 99 10 175 MX075 128 16 11 9 4
9041402 RFLLUT/SG4 1/8 44 6 516 246 355:385 107 56 14 10 175 MX075 128 16 11 12 4
9041408 RELUI/S6 1/8 6 6 585 278 3641 147 64 14 114 20 MI2075 146 20 15 12 4
9041409 RFLLU1/AQ6 1/4 6 8 615 288 36:41 147 64 18 114 20 MI2075 146 20 15 14 4
9041410 RFLLUT/SZ8 1/8 8A 6 662 318 4449 187 91 15 138 26 M5 187 24 20 14 45
Q1411 RALLU1/AZ8 1/4 8A 8 706 342 4449 187 91 18 138 26 M5 187 24 20 14 45
9041412 RALLU3/SZ8 3/8 8A 9 722 348 4449 187 91 22 138 26 M5 187 24 20 17 45
=
A O4-05/32"; 88 = 05/16" MR
=
=
=
=
=
=
= =
RFLL G (BSP) K24 - &, MM, SHEK, WHEH
KB B F O P A Al B C DEE G H I N Ch Chl Nmax
9041458 RALLUI/BGOPL 1/8 6 6 585 278 423:445 147 64 14 114 20 MI2075 146 20 15 12 4
: 9041459 RFLLU1/4-@6PL 1/4 6 8 615 288 423445 147 64 18 114 20 MI2075 146 20 15 14 4 i
9041460 RFLLUI/BGSPL 1/8 84 6 662 318 472:494 187 91 15 138 26 M5 187 24 20 14 45 =
: 2ch 9041461 RELLUT/AGBPL 1/4 8A § 706 342 472:494 187 91 18 138 26 M5 187 24 20 14 45
@ = 9041462 RFLLUI/SGSP 3/8 8A 9 722 348 472:494 187 91 22 138 26 MISI 187 24 20 17 45

A 98=05/1¢"




—
=
W&
p—
e
L
[a4
=
f—
=
=
™
fEjin

RFLL - G (BSP) 4L, iy, MK

B 2l @ F P A Al B C D E
9041501 RFLLU@A-M5 4A M5 4 477 227 355:385 107 56 99
i 9041502 RFLLU@4-1/8 4A 1/8 6 516 246 355:385 107 56 14
9041508 RFLLU@6-1/8 6  1/8 6 585 27.8 3641 147 64 14
9041509 RFLLU@6-1/4 6  1/4 8 615 288 3641 147 64 18
9041510 RFLLU@S-1/8 8A 1/8 6 662 318 44+49 187 9.1 15
9041511 RFLLUQS-1/4 8A 1/4 8 706 342 44+49 187 9.1 18
9041512 RFLLU@S-3/8 8A 3/8 9 722 348 44:49 187 9.1 22
A 04 =05/32"; @8 = 35/16"
RFLL % - G (BSP) $24r, M, Wzk, Hrimat
B Bl @ F P A Al B C D E
9041558 RFLLU@6-1/8PL 6 1/8 6 585 27.8 42.3:445 147 6.4 14
i 9041559 RFLLU@6-1/4PL 6 1/4 8 615 288 42.3:445 147 6.4 18

9041560 RFLLU@S-1/8PL 8A 1/8 6 662 31.8 47.2:49.4 187 9.1 15
9041561 RFLLU@S-1/4PL 8A 1/4 8 706 342 47.2:49.4 187 9.1 18
9041562 RFLLU@8-3/8PL 84 3/8 9 722 348 47.2:49.4 187 9.1 22

A 98=05/16"

RFLLE - &, WA
rB 2R g A B C D E G

El G
10 175
10 175
11.4 20
11.4 20
138 26
138 26
138 26

Bl G
11.4 20
1.4 20
138 26
138 26
138 26

H

9041601 RFLLB @4-04 4A 42 355:385 107 56 10 175 M9x0.75
M12x0.75 14.6 20
M12x0.75 14.6 20

n 9041616 RFLLB@6-06 6 494 3641 147 64 114 0
041616U RELLB@1/4-01/4 1/4 494 36:41 147 64 114 20
9041624 RFLLB 28-08 8A 573 4449 187 91 138 26

A O4=05/32"; 08 =25/16"

M15x1

H
M9x0.75
M9x0.75
M12x0.75
M12x0.75
M15x1
M15x1
M15x1

H
M12x0.75
M12x0.75
M15x1
M15x1
M15x1

128 16

18.7 24

|

128
12.8
14.6
14.6
18.7
18.7
187

14.6
14.6
18.7
187
18.7

n

16
16
20
20
24
24
24

1]

20
20
24
24
24

Ch
11
1
15
15
20
20
20

Ch
15
15
20
20
20

Nmax

45

Ch1
9
12
12
14
14
14
17

Ch
12
14
14
14
17

Nmax
4

4

4

4

45
45
45

Nmax

4.5
4.5
45




ATN\METAL
&/ WORK

PNEUMAT

RFLLE - &, WA, #HEEs

KRB 21 g A B C D E G H | 1 Ch Nmax
: 9041666 RFLLB @6-@6 PL 6 494 423445 147 64 114 20 MI2X075 146 20 15 4
9041666U RFLLB@1/4-@1/4PL 1/4 49.4 42.3:445 147 64 114 20 MI2A075 146 20 15 4
% @ Cch 9041674 RFLLB @8-08 PL 8A 573 A72:494 187 91 138 26 MI5xI 187 24 20 45
o Z

A 28=025/1¢"

%]
O w ’ef
RFLL G (BSP) 4240 - %, MIA

RS B F @& P A Al B C D E El G H | 1 Ch Chl Nmax

1 9041701 RFLLBM5@4 M5 4A 4 477 227 355:385 107 56 99 10 17.5 MX075 128 16 11 9 4
9041702 RFLLB1/8-04 1/8 4A 6 51.6 246 355:385 107 56 14 10 175 M9x075 128 16 11 12 4
9041708 RFLLB1/8-06 1/8 6 6 585 27.8 36:4] 147 64 14 114 20 MI2A075 146 20 15 12 4
9041709 RFLLB1/4@6 1/4 6 8 615 288 36+4] 147 64 18 114 20 MI2x075 146 20 15 14 4
9041710 RFLLB1/8-28 1/8 8A 6 662 318 44:49 187 9.1 15 138 26 MI5I 187 24 20 14 45
9041711 RFLLB1/408 1/4 8A 8 706 342 44:49 187 9.1 18 138 26 MI5xI 187 24 20 14 45
9041712 RFLLB3/8-28 3/8 8A 9 722 348 44:49 187 9.1 22 138 26 MI5xI 187 24 20 17 45

A OA=05/32";@8=035/16"

CChl

RFLL G (BSP) 4840 - %, X, AriRES

R 2R F
9041758 RFLLB1/8-@6PL 1/8

1) A Al B Cc D E El G H | 1 Ch Chl Nmax

6
9041759 RFLLB1/4@6PL 1/4 6

8

8

8

P

6 585 278 423:445 147 6.4 14 114 20 MI2x0.75 146 20 15 12 4
8 615 288 423:445 147 64 18 114 20 MI2x0.75 146 20 15 14 4
6 662 318 47.2:49.4 187 9.1 15 138 26 MI5xl 187 24 20 14 45
8
9

BRI RFLL &%)

9041760 RFLLB1/8-28PL 1/8
9041761 RFLLB1/4-@8PL 1/4
9041762 RFLLB3/8-28PL 3/8

70.6 342 47.2:49.4 187 9.1 18 138 26 MI5xl 187 24 20 14 45
72.2 348 47.2:49.4 187 9.1 22 138 26 MI5xl 187 24 20 17 45

A 98=05/16"

B AR

RFL 422 1 8 ) B4
B s
R B
S 9200703 b

VER: MR RLRE R g, 36 BB S E

\ / fERESE REUG A iz Sl s, KeLERIf. 0 RFL REWEHWE, RFEMERL))
v MO B BT






